1. A Distance Vector algorithm jZ=4: routing table

DL v Rtk
Step N’ D(u), p(u) | D(w), p(w) | D(x), p(x) | D(y), p(y) | D(2),p(2)
0 v 2.V 3,v 2, v 00 00
1 vu 3,v 2,V 00 00
2 VUX 3,v 3, X 00
3 VUXW 3, X 8, w
4 VUXWY 5.v
5 VUXWYZ
Forwarding table
Destination Next hop (output link)
u u
w w
X X
y X
z X
DL w Ryl
Step N’ D(u), p(u) | D(v), p(v) | D(x),p(x) | D(y), p(y) | D(2),p(z)
0 w 5w 3,w 3,w 1w 5w
1 wy 5w 3, w 2,y 3,y
2 WyXx 3.x 3, w 3,y
3 wyxu 3w 3,y
4 WYyXuv 3.y
5 WyXxuvz
Forwarding table
Destination Next hop (output link)

y




v v
X y
y y
z y
DL x Rtk
Step N’ D(u), p(u) | D(v), p(v) | D(w), p(w) | D(y), p(y) | D(z), p(z)
0 X 1, x 2, x 3, X 1, X o0
1 Xu 2, x 3, x 1, x 0o
2 xuy 2, X 2,y 3,y
3 XUyv 2,y 3,y
4 Xuyvw 3.y
5 Xuyvwz
Forwarding table
Destination Next hop (output link)
u u
v v
w y
y y
z y
Lly FoCh
Step N’ D(u), p(u) | D(v), p(v) | D(w), p(w) | D(x), p(x) | D(2), p(2)
0 y o0 o0 Ly 1y 2,y
1 yw 6, w 4, w 1y 2,y
2 YWX 2, x 3, x 2,y
3 ywxu 3, x 2,y
4 yWXuz 3. x
5 ywxuzv
Forwarding table
Destination Next hop (output link)
u X
v X
w w
X X
z z




DL z Fuilh

Step N’ D(u), p(u) | D(v), p(v) | D(w), p(w) | D(x), p(x) | D(y), p(y)
0 z o o 5z 0 2,2
1 zy ©o S} 3.y 3,y
2 zZyw 8, w 6, w 3.y
3 Zywx 4, x 5, x
4 Zywxu 5, x
5 ZyWXuv
Forwarding table
Destination Next hop (output link)

u y

v y

W y

X y

y y




2. A Distance Vector algorithm 4= routing table

Du(v) = min{c(u,x) + Dx(u), c(u,w) + Dw(v), c(u,v) + Du(v)}

= min{1+2 , 5+3,2+0} =2

Du(w) = min{c(u,x) + Dx(w), c(u,w) + Dyw(W), c(u,v) + Dy(w)}

= min{1+3, 5+0,2+3} = 4

Du(x) = min{c(u,x) + Dx(x), c(u,w) + Dw(X), c(u,v) + Du(x)}

=min{1+0, 5+3,2+2} = 1

u’s Forwarding table

Destination

Next hop (output link)

Vv

X

X

Dy(u) = min{c(v,u) + Dy(u), c(v,w) + Dw(u), c(v,x) + Dx(u)}

= min{2+0, 3+5,2+1} =2

Dy(w) = min{c(v,x) + Dx(w), c(v,w) + Dw(w), c(v,u) + Dy(w)}

= min{2+3 , 3+0, 2+5} = 3

Dy(x) = min{c(v,x) + Dx(x), c(v,w) + Dw(x), c(v,u) + Du(x)}

= min{2+0 , 343, 2+1} =2

v’'s Forwarding table

Destination

Next hop (output link)

u

w

X

Dy (u) = min{c(w,u) + Dy(u), c(w,v) + Dy(u), c(w,x) + Dx(u)}

= min{5+0 , 3+2, 3+1} =4




Duw(v) = min{c(w,v) + Dy(v), c(w,x) + Dx(Vv), c(w,u) + Du(v)}

=min{3+0, 3+2, 5+2} =3

Duw(x) = min {c(w,x) + Dx(x), c¢(w,v) + Dy(x), c(w,u) + Du(x)}

=min{3+0, 3+2, 5+1} =3

w’s Forwarding table

Destination

Next hop (output link)

X

\"

X

Dx(u) = min{c(x,u) + Dy(u), c(x,v) + Dy(u), c(x,w) + Dw(u)}

=min{1+0, 2+2, 3+5} =1

Dx(v) = min{c(x,v) + Dy(v), c(x,w) + Dw(v), c(x,u) + Du(v)}

= min{2+0 , 343, 142} =2

Dyx(w) = min{c(x,w) + Dw(W), c(x,V) + Dy(W), c(x,u) + Dy(W)}

= min{3+0, 2+3, 1+5} =3

x’'s Forwarding table

Destination

Next hop (output link)

u

\"

w




node u table
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node x table

from

cost
u v w
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node u table

node u table

cost cost
0 4 1 o uO 2 4 1
5 0 3 :’4 3 0 3
30 1 2 30
node v table
cost
W X u v w X
5 1 40 2 41
3 2 from 12 0 3 2
0 3 wig 3 0 3
3 0 X1 2 3 0
node w table
cost
W X u v w X
5 1 ul0 2 41
3 2 from 12 0 3 2
0 3 wig 3 0 3
30 It 2 30
node x table
cost
w X u v w X
5 1 ul0 2 4 1
3 2 from 1o o 3 2
0 3 Wig 3 0 3
30 1 2 3 0




